


D D G20 U G D
TS L—
2 HbR:

1. BeETRERKETHE.
2. SREERKERRPNMAHB

3. B FENBNTFHRIERETT




T,

HRTA










A N

\
!

NET
KA,

/NARGOEK NRAQEK

&3k (100 ) cm
e 60cm+40cm= (100) cm




-
wHR—

/INREFI/ NG —ILHE 5 T MIA= 100
=

K, /NREFHAT60HK, /NMiuts

@7 2 E K
/MRRGOEDK MR ( 40) EK
4
A#E3F100cm
100cm—60cm= (40 ) cm

N

TR _—



D 2D 5 55 €D CD

INGE

NS 2 B S e — RS H InyA T
s FE L NEP B GE—iL e 2
by B EE K — SRR BL, EOR T —
B2/ 0K, HEGETHE.







Al
Z>]— (1)

70cm
60cm

20cm= 90 cm

20cm= 80 cm

60cm —30cm= 30 cm

70cm — 40cm= 30 cm

30cm + 16cm=
63cm — 48cm=
48cm + 19cm=
77cm — 44cm=

46 cm
15 cm
67 cm
33 cm
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